35.8 fb™ (13 TeV)
g 60000 - cms eluets, 3 jets . Eﬁtam reco
~ | Preliminary =tt Wgrong reco
‘2 50000 | e it got reco
= C
(] = A
= single to|
Lﬁ 40000E V+geDts p
30000 gotal unc.
20000 [
10000 f
0 .
gg l.g
© 1.
X P77 7Y A
Ola 0.&7’/7/7 lllekeleld Sl LT ‘/’%’W/V/%//
0.6 ;
0 50 100 150 200 250 300
miss
pT
120 x10° 35.8 fb™ (13 TeV)
o i i Data
F ggﬁlﬂ?na elp+tjets, 3 jets ittrlght reco
~ i tt wrong reco
> 100 = (L wrong
2 -g go reco
o .
single to|
i V+geDts P
?otal unc.
0 . . . .
Sl 14
8|S 12p 7/
Olo. Oé (el LN 2 7
0.6 Yl 774:7%%%
0 100 200 300 400 500 600 700 800
p.(t)
35.8 fb™ (13 TeV)
o CMS elu+ets, 3 jets o Data
N e tf right reco
o Preliminary = g W%t)ng reco
~ not reco
2 =it bk
single to
g V+g]lejts P
w gotal unc.
0
gg 1.4
oL 1.2
Qla 177 BRI IR
0.6
0 0.5 1 1.5 2 25
Iy(®)l
0 x10° 35.8 fb™ (13 TeV)
Q CMS elu+ets, 3 jets « Data
N ~ '
; 120 Preliminary = g \r/:/?g;éeﬁe%o
g iy = o
g single top
L 80 V+jets
. QCD
60 %tal unc.
40
20
0 4 'y e e
g5 14 7
8 T 1'21 N 777/7 P %%
W) iddddedbdddz/, 7,7 A /4%
0.6 44,24 %%%
0 50 100 150 200 250 300 350 400 450 500

p,(t)

35.8 fb™ (13 TeV)

; 600005_ CMS e/utjets, 3 jets
g 50000} Preliminary
12 =
& 40000 -
> =
w =
30000 —
20000
10000
0
98 1.2
©O 1.
Dn-ogl"//’//‘//‘// ./;////’(‘/
06
-2 -15 -1 -05 05 1 15 2
n()
x10° 35.8 fb™ (13 TeV)
1SS CMS elutjets, 3 jets » Data
< ,
— 100 |— Preliminary = g \l;:lgrg}\éel%%o
2 @ tt not reco
o 80 tt bclk )
single to
i g
60 -? D
rzz4 Total unc.
40
20
0 . .
Slo 14
©(Q 1.2 .
Ola 0 QWW%/,{/ ik
0.6 WL 70
0 100 200 300 400 500 600 700 800
p.(1)
35.8 fb™ (13 TeV)
80000 - cms elu+ets, 3 jets » Data
Preliminary @ tf right reco

70000

Events / 0.25
[}
o
o
o
o

[ ] % wr?ng reco
@ L not reco
tt bek

single to|
Viiets 7

-? D
otal unc.

30000
20000
10000
0
Slo 14
T(Q 1.2 o
el o 81 8000 llliiitiita etz
0.6
0 0.5 1 1.5 2 25
Iy
35.8 fb™ (13 TeV)
L 50000 — CMS elu+jets, 3 jets « Data
g Preliminary @ tf right reco
o o tt wrong reco
— 40000 -% ggtk réco
£ single top
o 30000 V+iets
i -? D
w otal unc.
20000
10000
0
Slo 1.4 .
a8 2
S& 1'% 777 7 7 %)
Wl .2 7
0.6
0 0.5 1 15 2 25
y(to)l



